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1. Answer all quesuons All questions carry equal mtrks

2. This Question Booklet contains 80 questions in all
comprising the following three parts :

Part-1 : Comprehension and Writing

Ability in Hindi (40 questions)
Part-2 ; General Intelligence Test (20 questions)
Part-3 : General Awareness (20 questions)

3. The candidate should mdlcatc the correct Roll Number,
Registration No., Category, Question Booklet No., Exam
i Centre Code, Question Booklet Series; Date of Birth
and Sex on the OMR Answer-Sheet othcrwue the
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ac: quecﬁon has four alternative anuwcn The

candidate has to darken only,one circle/bubble on the
Answer-Sheet using black ballpoint pen indicating the
correct answer as shown. If more than one answer/
option is found darkened, then the quution will be
treated wrong and will not be ‘evalizated.

Example: ® O O O

8. Rough work is to be done in the space; provided in thc
Question Booklet only.

'6.Use of white fluid or blada:“for - correction on
Answer-Sheet is not permiwble

7. Usé of Electronic calculator ‘and l\(oﬁﬂe etc., is not
permissible,
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| 40 metres

41, A is taller than B. D is shorter;than C
pit taller than E. Only D is between
Aand Bin terms of height Who is the

tallest of all? .~
&) B A
® C & i

o A

42. A says to B, “I.am thce as old as y&’l
were when ' was as old as you are”. The
sum of their present ages is 63 years.
What is the present age-of A?

(A) 45 years gE {4
(B) 18 years Az (™
(C) 28 years Gl

(D) 36 years

43. First of all Ahmad goes 20 metres to the
north from his place, then he walks
15 metres to his nght Agam he turns
“fo the right and moves 20 'metres.
. Immediately turning to the left he walks
25 metres; How fari is; Ahmad now from

;1 his starting point? . n

(A) 45 metres

~ B 50 iﬁeti‘es i ..__.'

S : &

(D) 35.metres [
e § Sane et G 7
S SREAOTSED

gt & FRPRRTED @ GEﬁER‘AL IN’I‘ELLIGENCE‘ TEST ol 5

44, Find /fhe missing term’ of the ‘following
geries : e S

1547

DCBA;~ 7, ZYXW,, SRQP
(A) EHFG e
T T
(B) GFEH s U8
I* ) paME: e |

45. 1f-FACE is: coded ‘as; 6135 iand: DEAD
is coded as 4514, then HIGH w111 be

coded as

3.4

(A). 8978 | . |

(B) 9887
/ CtEiane e
s _-,.(c),.,'gssa. SSEESE N or. St
o) 6536 da L O

www.JobRiya.com ..

46. In thls qucstlon. a word has been given
followed by four other words, one
of which cannot be formed by using

"" “the letters ofithe- gmn wora ‘Fmd that -

word : ' >
{1 COMMENTATORS '

(A) MOMENT

% {(B) .COSMOS . R
(C) ROTATE S
COMMON 2

L b (PO

Fadbes » 4
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S " The. ‘question figure ;is. cmbedclcd {n
= 47. Asquare sheet of paper has:beerfolded Bﬂu ;
eu':;l punched as shown in the question® e which of the answer. figures? ...

¥’ \'w..
figures. How will. 1t look ' like when Gie; . -Question Pigure: i+ ¥ o fvn /
unfolded? { ¢ . . ‘ « : TSRy

“Question Figures

o

& oot

~ Answer Figures :

B 8B E b lEp s 4 (D) e (8) o w BY % cipiOhgre g (D)

48. Which answer figure completes  the el -
form given in the question figure? B1. Select the missing word :
Question Figuf i P Milk : Calecium :: Pulses : ?
«=wWWw.JObRiya.com :
- (A) Protein £, 5 . b
om0 0, @ 5 M Pe ™ “'¢B) Fat R A B
A i ol . +(C) _Iron
Answer Figures : ; ! ~ X B oA
i . (D) Carbohydrate
\ o— » .
A |k By
A e R 52. Complete the series of question figures
(A)3~ ;5 (B (C)} (D) from the answer ﬁgurps. e
‘ ' Question Figures : %
49. Find the appropriate group of letters to |
s b s T O
—I0 JE LIBE RUETE (1 (11 ) S (V)
(A) cgbcb -
Answer Figures :
.(B) cgbec S ki =x ORI
LR i =| = g = |

N e e P (A) () Q.- . ®
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53. A hawker is in the middle conipartmeng: -

of an interconnected train with
"+ .17 bogies. ;He-moves 6: -compartments
backward ‘and gets down on the next.
station, Now he enters in‘ the third
compartment next to engxne. How many
compartments he is far away from his
original position?

{vd
A) 5 (B) 8
(C) 3 Tiodd ¥4 (D) 6~$ e 8
54. In this question a grouﬁ of "vsta\'{é'ments
is. followed* “'four - alternative
inferences. Select the one. whxch is most
appropriate :
“Some clothes are sﬁir;ts All sﬁﬁts are
wh1te Somc clothes are red 2
"(A) All shirts are red <
(B) Some clothes are white:
(C) Some shirts are white...
5 (D) All clothes are red - -,
5. If RED is coded as 360, then GREEN
can be coded a§
(A) 44110 ;
(B) 44100
(C), 44400 i
(D) 41400 - .. -
56. Which “one of the following groups of
letters does not belong to the .same
“' class as the others? ] S
(A) KIMP
(B) HEIL
(€) FCGJ: i =
/(D) DAEH
JAE-2015/1-D

11

S 87 ,:Inaer'f'the miiiaing number ;

- SRR :4: ,9 ’2 8 T Y
ss=laile | 9 i
8116
A) 4 B) 6 &
© 7 D) 5 coor

S e B 2
58. If A stands for ’, B stands for 4+’ and
C stands for ‘x’ then what “is the

value of (5C4) A(283) BE?

(A) 19 (B) #9377
‘ LC) 31 o) 21
h iya.com.. . . .,
59. If 4’ means ‘greater than’; ‘“’: means

‘smaller than’ and =’ means ‘not greater
than’, then ‘a+band b—¢"' u’nphes that

mw”

B).a=c. ..

(Ci'%a'Br"#c' i

(D) a+c
| L¢3 ’ 1}‘-’

60. If 3=7, 8=12, 9=13; then 7 =7

a)y 11 i i
& iad : Aiied
“B) 12 i 324 by
© 13 B
(D): 10 s R Bt
o L [RPO
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_ PART-3 ' GENERALPAWARENIESS 7 i © = sws v
61. Mahatma Gandhi becamie the President '66. The unit used to measure the
of Indian Natxon_gl Congress in the year ' supersonic speed is : "
(A) 1923 L (A) Mach R
(B) 1924 ; (B) knot
(© 1925 i (C). “Richter
D) 1922 (D) hertz :_
: . ; . ' i~ = ‘1
‘62. The creamy layer is assocxated wﬁh~ 67. Blood looks red because of 1
ot '(A) bxosphcre % | (A) plasma .v : 1
(B) socio-economic status (B) certain sccrt:ﬁott; ‘ = :
o poultxy farming (C) red corpuscles &
(D) . dmry products : (D) hemoglobin =~ i
bRi y
' 63. The prose versions of Veds 39 called - ?8. Tgegammt does not produce g'abd
A Sanihibas B lather with soap is called i
(B) Brahmanas (A). hard water o
(C) Aranyakas (B) heavy water ;
(D) Upanishads (C) soft water 95 =4
. (D) polluted water
64. Which of the following national events :
of Indian football was started in the 69. Which among the following bites fast.est
year 1945? in the world? S &
(A) Durand Cup AV AWicun Scagplon.
(B) DCM Cup LR (B). Panamanian Temnte i
(C) Scissors Cup (C) Australian Squirrel’
(D). Santosh Trophy /- - (D) : Indian: Cobra eRle  Ah
+68:+Lal- Bahadur: ‘Shastri- Stadium: - 70. ‘Golden ' Peri. of “Freedom® awardg‘\‘%.v
situated at 5 = ¥ associated with - E
{A) New Delhi & k (A):. journalism e ; :
(B) Hyderabad : (B) art of cineaa. | g
(C) Allahabad (C) sports editorials
’(D)' Kanpur g (D) ' literary writing©© 0 e ’
JAE-20151 1-D 13 SR D e Y i




‘ e RfEaH
e i it BEE T mmw,ﬁ%ﬂ*
/n/mm SWW#EMR}S : ﬁlqﬁf 20153#!%1“1@ *W

Sthgcngiel Gy s Vaggeen ez o €] LB % A0 ﬁ 99 ﬁﬁrg ‘Tg 'ﬁ’
(A) zm ! :-.i ‘  , A o eI %
2 gl g AT TRLE : i (A’)" v:rsq% 114 W {‘ .
R e L )Qﬁ) m‘% 125 E@qa. % . e
(C) % © T gdgerEhd
D) e Gl il /fm% 108 g €

quﬁmmwm
/waaﬁamﬁﬁzﬂqaﬁ%mm

/fm*mmnﬁamm
(B) e ST TH v .
© dohEE @) dRad
B e © maﬁmmﬁ

(D) 2 aut#

88 ' il

)a» muﬁmﬁmﬁqﬁ?ﬁfwﬁ&ﬂ%’é?
@& @

rrede

o

(B) =®
_te) e
]obnya com - v

79. ‘Rl o < T A fiv w3 o #7
) (A) 1 ar&

i
3Ky

T 4R (B) SRHE <5 ey b 3

A » /(CT mﬂ'{a Fic: e e ey
By : S@) mmﬁt“f’": T b s Eai £

78 mm%«wﬁmt? DHeRE 0 }/ﬁw-ﬁm'm%w»mmmmw?
r(m-mm (A) 1956 i
@) T@EEES 2 I R

153
(C) MREMITTF . e (©) 1975

‘ (D) mqﬁ e frviagd (4oL (D) . 1947

JAB-2015/1-D 14

4
&




~-police force was called

{8)" Daroga ) : )

During Mughal ?enod, “intcharge . of .,

(B) Fauzdar
(C) Subedar
(D) « Kotwal di

Who among the following was the first
Home Minister of India?

(A) Sardar Patel

73,

74,

(B) Babu Jagjivan Ram

(©) Morarji Desai S
(D) Govind Ballabh Pant

WWW. ]oleya.

In Ramayana, Mandavi was the W1fe of
(A) Bharat

(B) Meghnad ' e
(C) Sugreev >
(D) Laxman

Which is the oldest Veda?

(A) Rigveda ' 5
(B) ‘Atharvaveda

(C) Yajurveda o
“ Py Samaveda -
Tarla Dalal is a far_no’us 3

75,

- JAE-2015/1-D

)

(A) cookery specialist
(B) child psychologist
(C) media manager

(D) classical dancer

(©) 1975

476, Mufti Mohammad Sayeed was sworn in
‘as Chief Minister of Jammu and

Kashmir on March 1, 2015 at Zorawar
Stadium, Jammu He is the

(A) 11lth Chief Minister'of the State
(B). 12th Chief Minister of the State:

(C) 13th Chief Minister of the State
(D) 10th Chief Minister of the State

77. The Constitution of India was written in

(A) " more than two years but less than
three years

(B) three years

(C)- more than three years

cotti”

How many Fundamental Duties are
given in the Indian Constitution?

(A) Nine G

(B) Ten
(C) Eleven
(D) Eight

‘Shipki La Pass’ is located in which of
the following Himalayan valleys?

" (A) Nabha valley

(B) Chandra valley
(C) Kullu valley
(D) Sutlej valley

80. When was Tripura made a full-fledged

State of India?

Ay 1956

(B) 1972

(D) 1947
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